sy Jﬂwm"eptlaﬁ;nl—l.h
1. 3§y =sin(log x) T %=?
(A) _coS(i:)gx) o (B) COS(?SI)
(C) sin(logx) - (D)TH E FE A& Ans.~(B)

(A) 3x2+4(B) 3x* (C) 6x (D) 3x Ans.—(C)

3. Rk y=logdx @1 2 i P A ¥ B @

|
(A) i- (B) \/; (C) 2x (D) %—x- Ans.—(A)

4. 'Qﬁy‘“smzvr?ﬁ dx2 Wmﬁﬂmﬁﬁﬁ?m7
(A) 2sin4x (B) —4sin2x(C) 4sin2x (D) 4cos’2x Ans.—(B)
1 Q 9 3/2 ) _cfl | |
5. SfewRe weteRor 11| o =m=7 = U freifed o
9 & Bhm?
(A) 2 (B) 3 (O) 1 (D) O Ans.—(A)



6.

10.

11.

12.

13.

13.

16.

f(x)=+3 sinx + cosx 1 A9 geTd x & Freifea ® 9 fod
"4 & feg gm?
7

n m n
(A) 6 B) % © i (D) T Ans.~(D)
qg x = a!z,y=laf?ﬂ %=

@t ®1 ©a ©OF As-®

IfE £ (x) = 8x° AR g(x) = ?ﬁ fog T B2

(A) 3x  (B) 9 (C)4.r (D) 8x Ans.—~(D)

xlog%+y—2103x 1 FHR T UTeh 2?7
(A) x (B) &
(C) log x (D) log (log x) Ans.—(C)
ok x=e*"  r>o0.d L |
ﬁﬁ-
ay 22X ) l © == © -1—“1'3‘— Ans.~(D)
b o 1+x
trﬁf(x)-euew 1], a’rﬁnﬂ%ﬁmwmm%fm
‘e’ <hl HH '3'!
(A) log(e-1) (B) log(e+1)
(C) log e D) FH | F¥ T Ans.—(A)
i(El;'.t.‘.l,1::)=
dx

1

(A) T (B) ™

(C) -l D) FH | %8 T Ans.—~(A)
+x
d -
ij(-f)— ,
(A) f '(x) (B) f (x)
(C) [ '(®) (D) f(x)+c Ans.—~(B)
1= a M D
' qﬁx-l.u 3?['{)’-14_‘2 ?ﬁ;“

WL ®: ©5 OF A
X

X

< y = log {log(logx)} G| £=

|
: (B)

(A)

log(log x) xlogx.log(logx)
"5 1
© fioiosy = O ﬂ.ﬁé T Ans~B)
IRy =a | d_zy. -
dxz
(A) " log a (B) @ (log a)’

(C) (@) loga O) T | FE T Ans—(B)



17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

S y = log sinx?, :.t:=J£ w2y IR B2
2 dx
@Wo  ®1  ©F V" A<D

EIE f(xi=ﬁsinx+cosx ?, NS (x) F1 Afusan o 5 3
fog a9 =+ fow @2

n _
WE B3 ©F OF As<0

d(a”) _
"
(A) @’ log a (B) 1::
a
(C) a'wr D) ¥ A FE T Ans~(A)
(A) _Jx @) -1 [2
v 2\
C) - -':-:- (D) ¥4 | Hig T Ans.—(C)
d(elinJ;)
dx
(A) esin«E .COS J; ; (B) e’ I"J;.COBJ; |
23:
Mnvx |

(C) m' (D) e'lnﬁ Ans.—(B)

Wi S 2 5 CAN
gy = 9* 4t ‘_fz_y=

d\?z

(A) 9%, log 9 (B) 9%, (log 9)2
(C) (9x)? log 9 D) ¥ ¥ #E 7  Ans—(B)
I y = tan?x, dt %: Y
(A) x° . cos(x’) (B) sec?x

(C) 2tan x . sec’x (D) 55 9 Eﬁ'&’ Tl Ans.—(C)
qﬁy=63!ngx’?ﬁ %=

3
(A) 322 (B) 2logx () = (D) 3xp  Ans~A)

-:?{cominx)} = e '
(A) sin(sinx)cosx (B) —sin(sinx)cosx
(C) —sin(cosx)cosx D)FH | % @  Ans.~(B)
d - |
—.f =
& |
= er
(A) —.e* (B) —5

X _ X
|

(C) e;.logx (D) ¥4 | FE 98  Ans.—~B)



27.

28.

29.

30.

31.

32. I

33.

34.

39,

36.

—.log10*

X

(D) T & & W  Ans.~C)

(C)

xloglOl
&
&
(A) 1 (B) 0
(C) x (D) F9 | ®I§ T’ Ans.~(A)
| 2
g x=acos’ 0, y=a sin’0, @ “{i*’_] =

(A) tan?0 (B) sec®®@ (C) sec® (D) [sec 8] Ans.~(D)

.qﬁ1=3cusﬁ-—2cos39,y=3siﬂ 9--25in39,'ﬂ°f %=

(A) cot® (B) tan® (C)sec® (D) 38 ¥ hig =&l
Ans.—(A)

'q-&l':BSiHZB,y.:BCES 20,1 =L & foT %=

4

1 | n . _r
(A) > (B) ) ©) 3 (D) =5  Ans—~(D)

sin® . cosb T‘ﬁ 5
2 4% ﬂ =
o2 Y " im2e | 0"d

(A) ] (B) 1
(C) 0 (D) faemm =&t Ans.—(C)
gfEx =log ¢ +sint, y=e+cos , @ %:
t(1+tcost) 1 +¢cott
(A) ¢! -sin¢ (B) t(e' —sint)
(C) e -sint) (D)1 4 &I 7€ Ans.~(C)
| 1+tcost
Ry = ainx+\fsinx+~}sinx+,...m e “}%=
(A) 2y-1 (B) cosx
co8 X 2y-1
2x—1 cos )y
) cosy (D) P - Ans.—(B)

X H O H WY EH TonE e ©
(A) 6x°* (B) 3x2 (C) 24 (D) x> Ans.—C)
ErF‘<2'+2?—z-’=+J’a’[ﬂ_

2* =2 142%*Y

- X+
(©) ﬂ;_l ©) 2 :;-z* ——




37.

38.

. .

40.

41.

42.

43,

44.

45.

46.

: T Y _
qE x> +)° =3axy, @ =
x> —ay *
(A) —— (B) 3(x* - ax)
ax -y
(C) ';j::: D) FH | & 98 Ans.—(A)
(€ (2 sind -+ sin 20) T (2 cosO + cos 20) % HUe ATFA
ot , e '
30
(A) cot 39 (B) —mt?
(C) —cot 6 (D) mtiza- Ans.—(B)
. 2 %
Af () =1 2x 32|, | fi(x) =
0 2 6x

(A) 12 (B) 6  (C) 6 (D) i ¥ wE

Ans.—(B)
Ifs 1 = cot-} \/l+smr+fl sin x
sikiiiag Jl+smr—Jl-smx
(A) -l': Vx F(B) -%,Vx
(9 :l:'l‘ vx D) FH 4 HE T  Ans—~(D)
& .

gfe sinlx + y) = log(x +y), G| E =
(A) 2 (B) -2 (C) 1 (D) -1 Ans.—(D)

&
ﬁ'ﬁx’siny=xsin(a+y)?ﬁ dx =

(A) sin (a+y) (B) sin’ (a + )

sin’ (a+y)
() :y ) . O ——— - Ans~D

I y=1/sm.x+y gy =

sinx sinx CosSX COSX
(A) 251 B®) 12y © 125 P 2y

Ans.—(D)

dy
afx xy1+y +yV1+% =0, 7=
1
1
A) 1o - ® Ty (1+x)>
1+x |

ﬂﬁ'{ 0% 4 ycusr 5 ?ﬁ'

' = Oy-—l.q{y'=
(A) x=0,y=0Wy'=0 (B) x=
(C))I y—-ltﬂyl_—_l (D)I"l y= Oy’ = 1Ans.—(C)

‘J:"-+1 . —1 Jx_'l _@_W%
7% y = sec” ['f;: Fan s (r+1 a'a_‘h
B |

© 37 @O
(A) 1 5 » % (BSEB, 20094] Ans.~D



47.

48.

49.

50.

S1.

52.

54.

9.

56.

S7.

(A) = 2 ~y ==
w3y ® < ©O= ®

afg y = sec(ta.n‘lx), Gl % ®

—X
(A) — (B) T=l+x2

© T (D) ¥ ¥ I T
- [BSEB, 20094] Ans.~(A)

i y = logx®, M %:

(A)1  (B) logx (C) log(ex)(D) ¥H ¥ ®Ik &
[BSEB, 20104] Ans.—~(C)

'i_- [log (sec x + tan x)]

|
) et

(C) tanx (D) sec x [BSEB, 20184] Ans.~(D)

-qﬁxzyz=(x+y)5 al % =

(B) secx +tanx

—X

X
[BSEB, 2013,4 7 Ans.—(B)

LoitanV1+x? - cot™! ~(V1+x?)] =

2x
(A) © (B) 1 (C) 0 (D) ol
[BSEB, 20184] Ans.—(C)
d(3%)

x x-1 n \* 2\
w (& ® L5 oF) w0 (3] e
[BSEB, 20184] Ans.—(C)

. fx)= /3 sinx+cosx N AA FETH T S x FT HA

o~

w:E ®3 ©F @) 7
[BSEB, 20184] Ans.—~(C)

ﬂﬁy=logccsxz,ﬁ)l x=qn ® % O e

B) I )0 (D) JE
(A) 1 (B) 4 ( [BSEB, 20184] Ans.—(C)

.f_ umxs"'s o
dx|x—a *~84 |

A)ss¢ B 5 ©1 (DO

[BSEB, 20184] Ans.~(D)
m+£‘l'—r‘%“-=o 1 T T—

x2+y
2 12 J‘2+ta.n"1"i—k
(A) —+tan y =k (B).—z- i
2 2
-1X X" _1£=
(C) —--tan y =k (D) 5--tan "< k

[BSEB, 20184] Ans.—(B)

Un, 2/n 3Iu+ _ﬂn/u
lim [ 4 +é + £ ’

n®o A
A)l-¢ B)e-1 ©Qe (D1
(BSEB, 20184] Ans.~(B)

F1 AH B—




